EIGENKAPITALENTWICKLUNG
LANXESS KONZERN

| Kapital |_Konzemergebnis | Wahrungsumrechn. | Ubr.Compr.Income | Summe |

in Mio. €

31.12.2002 2.848 -119 -264 o 2.465
Dividendenzahlungen 0
Thesaurierung -119 119 0
Wahrungsanderungen -110 -110
Sonstige Eigenkapitalverdnderungen 0
Konzernergebnis -997 -997
31.12.2003 2.729 -997 -374 0 1.358
Dividendenzahlungen 0
Thesaurierung -997 997 0
Wahrungséanderungen =21 -21
Sonstige Eigenkapitalverdnderungen 6 6
Konzernergebnis -12 =12
31.12.2004 1.732 -12 -395 6 1.331
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